
www.okonomi-deler.no   post@okonomi-deler.noPrisliste finne du på www.okonomi-deler.no 161

Ford New HollandAPL 335

63 64 65 63 55 

49 50 53 51 54 

60

40343530

27

43

3331323129

39

67
Innholder lager og låseringer 66

26 27 28 42 46 46 48 47

20

21

22

23

7 9 8 9

70 71 71 72

73 76 75

74 77

7978

17

16

14

45

Traktor: 5610, 6610  (5/84 - 6/87) 7610 ( 5/84 - 3/85) og 7610  5/84 - 3/85



162 Tlf: 69 10 23 00   Fax: 69 14 08 24

Ford New Holland
Traktor: 5610, 6610 (05/1984 - 6/87) 7610 
(05/1984 - 03/1985)

Pos Varekode Kommentar
7 FG 3927734 O-ring
8 IE 81269 Shims 0,5
8 IE 81257 Shims 0,6
8 IE 81258 Shims 0,7
8 IE 81259 Shims 0,8
8 IE 81260 Shims 0,9
8 IE 81261 Shims 1,0
8 IE 81262 Shims 1,1
8 IE 81263 Shims 1,2
8 IE 81264 Shims 1,3
8 IE 81265 Shims 1,4
8 IE 81266 Shims 1,5
8 IE 81267 Shims 1,6
8 IE 81270 Shims 0,75
8 IE 81271 Shims 0,85
8 IE 81272 Shims 0,95
8 IE 81273 Shims 1,05
8 IE 81274 Shims 1,15
8 IE 81275 Shims 1,25
8 IE 81276 Shims 1,35
9 FC 462-9 Lager

14 IE 81280 Bolt M14x40 uten diff.sperre
14 IF 931638 Bolt M14x45 med diff.sperre
16 FG 3945710 Drivaksel 718mm
17 IE 81286 Låsering drivaksel
18 FG 7791108 Foring indre
19 FG 3959483 Simmering indre
20 FG 3933891 O-ring
21 FG 3946008 Støvring
22 FG 3930333 Lager
23 FG 3946595 Deksel
26 FG 3927799 Bolt M12 x 30
27 FG 3949007 Kingbolt
28 IE 81303 Shims 0,4
28 FG 3946010 Shims 0,6
28 FG 3946017 Shims 0,8
28 FG 3946011 Shims 1,0
28 FG 3946012 Shims 1,4
28 IE 81301 Shims 1,8
28 FG 3946015 Shims 2,0
29 FG 3961173 Drivknute
30 FG 3961173 Drivknute
31 FG 1873051 Kryss
32 FG 3961173 Drivknute
33 FG 3961173 Drivknute
34 FG 7791108 Foring ytre
35 FG 3959483 Simmering ytre
39 FG 3949062 Bolt
40 FG 3949041 Knokkelhus høyre 5610,6610 Fra 04/1985

40 FG 3946004
Knokkelhus høyre 5610,6610,7610 Til 

04/1985

Traktor: 5610, 6610 (05/1984 - 6/87) 7610 
(05/1984 - 03/1985)

Pos Varekode Kommentar
40 FG 3949040 Knokkelhus venstre 5610,6610 Fra 04/1985

40 FG 3946005
Knokkelhus venstre 5610,6610,7610 Til 

04/1985
42 FG 1869544 Simmering nav
43 FG 3949062 Hjulbolt (18 mm)
45 FG 3949048 Nav
46 FG 3946047 Lager
47 FG 3927797 O-ring
48 FG 3946026 Mutter
49 FG 3946034 Skive indre
50 FG 3946500 Skive ytre
51 FG 3949049 Aksel soldrev
53 FG 3946035 Låsering
54 FG 3945579 Shims 1,0
54 FG 3932640 Shims 1,5
54 IE 81332 Shims 1,7
54 FG 3945581 Shims 2,0
54 IE 81333 Shims 2,2
54 FG 3945582 Shims 2,5
56 IE 81334 Skrue M10 x 20
57 FG 3955577 Nivåplugg
58 IF 933709 O-ring
60 IE 81319 Ringgear
63 FG 3961190 Låsering
64 FG 3934020 Lager
65 FG 3946053 Planetdrev
66 A10378 Kingboltsett 
67 A10382 Reduksjonssett
70 FG 3984963 Styrekule ytre høyre
71 IG 1968463 Styrekule indre h og v
72 FG 3984962 Styrekule ytre venstre
73 FG 3947640 Senterbolt foran
74 FG 3927652 Foring triangel bak
75 FG 1802839 Triangelbolt bak
76 FG 3927808 Foring senterbolt
77 FG 1802944 Trøsteskive triangel
78 FG 3947643 Låseblik senterbolt
79 FG 1821201 Bolt 7/16"UNC x 7/8"
80 FG 3947644 Låseblik triangelbolt

APL 335

FG 3927734 IE 81269

FG 3992412

IE 81280

IF 931638

FG 3945710

FG 7791108

FG 3959483

FG 3933891


